
Assembly Instructions

classic adirondack swing
330-893-4212 • www.wildridge.com

LCC-204

© 2017

Required Tools:
- �Mallet/Non Marring Hammer  

(Do not use Metal Headed Hammer)
- Cordless Drill
- #2 Square Drive Bit
- �1/2" and 7/16" Wrench or Socket

Parts:
A = (1) Backrest
B = (1) Seat
C = (1) Right Facing Armrest
D = (1) Left Facing Armrest

Hardware:
- (10) 2 1/2” Screws
- (1) Aluminum Angle Iron
- (4) 1/4” x 2 3/4” Bolts
- (4) 1/4” Washers
- (4) 1/4” Nylon Locknuts

- (4) 5/16” x 4” Eye Bolts
- (4) 5/16” Flange Nuts
- (4) 5/16” Washers
- (4) 5/16” Nylon Locknuts
- (4) Connector Links
- Swing Chains

Step 1
Mount the backrest 
(A) onto the seat (B). 
On the back side of 
the swing, fasten (3)  
2 1/2”  screws 
through the pre-
drilled holes, as 
shown (pictured 
above), then place 
the aluminum 
angle iron as shown 
(pictured right), and fasten with (3) 2 1/2” screws through holes in 
angle iron.

(1) Piece 
Angle 

Iron Not 
Pictured

A

B

A

B

D

C

Step 2
Lay the swing on its right side and place the left facing arm rest (C) 
as pictured. Slide (2) 1/4”x2 3/4” bolts through the holes from the 
outside, through the armrest, and through the seat, and add a 1/4” 
washer and 1/4” nylon locknut, one per bolt. Next, fasten the front 
apron board to the armrest with (2) 2 1/2” screws as shown. Repeat 
with right facing armrest (D) and apron board on the other side.

Fasten the front 
apron board to 

armrest with 
(2) 2 1/2” screws

• �(2) 1/4”x 2 3/4” Bolts
• (2) 1/4” Washers
• �(2) 1/4” Nylon 

Locknuts 

C

Step 3
Thread a 5/16” flange nut onto a 5/16”x4” eye bolt with the flange 
turned away from the eye and as far as the thread allows, and feed 
it through the pre-drilled hole on the back of the armrest and add 
(1) 5/16" washer and (1) 5/16" nylon locknut. Do the same on the 
front of the armrest. Repeat with remaining two eye bolts, etc. on 
the other end of the swing.

Aluminum Angle Iron



Assembly Instructions

classic adirondack swing
330-893-4212 • www.wildridge.com

LCC-204

© 2017

© 2017

Step 4
Using the (4) connector links, attach the chains to eye bolts. Your 
swing is now complete.

Thank you for purchasing from Wildridge.


